Answer on Question #50236 — Math - Complex Analysis

let >’ Zn be A convergent series such that 0< Arg (Zn) < (P1/2)

Show that

> (Re (Zn). Im (Zn) ) is also Convergent
Solution:

>z, =X +i-Y is the convergent series, where z, =x, +iy,. |X +i-Y|=VX*+Y? <o

k=1

If 0<arg(Z,)<=/2 then x,,y,>0.

Dz =2 (X iy ) =D X+ Yy = X +i-Y
= k=1 k=1

k=1 k=1

iRe[Zk]:iXk =X </X%+Y? <oo,ilm[zk]=iyk =Y <V X?+Y? <0
= P

k=1 k=1

SIS UADIA

k=1

‘Zxk yn

ASXn’yn >0:>Z|Xkyn|:zxkyn ' Z|Xk|zzxk = X ,Z|yn|=Zyn :Y y then
k=1 n=1 n=1

k=1

D XYy < XY <X24+Y%<o0

Answer: > Re[z,]Im[z,] is also convergent.

www.AssignmentExpert.com



